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Note : 1) Answer all the questlons thoose the correct Answer.

1.

{(a,8),(6,b)} ezl @ sweflé sy rafled, @ HDID b SO seTTOLET enpGw

1) (8, 6) 2) (8, 8) 3) (6, 8) 4) (6, 6)

If {(a,8), (6,b)} represents an identify function, then the value of a and b are respectively
1) (8, 6) 2)(8,8) 3)(6,8) - 4) (6, 6)
R={(x, x?)| x Spe0gl 13g efl_& & EODEUTETT LIGT sretmaen } 61601 2 mellen eiFsHLNETSI
1){2,3,5 7y - 2){2,3,5,7, 11}

3) {4, 9, 25, 49, 121} 4){1, 4,9, 25, 49, 121}

The range of the relation R={(x, x?)|x is a prime number less than 13} is

1) {2,3,5 7} 2){2,3,5, 7 11}

3) {4, 9, 25, 49, 121} 4){1, 4,9, 25, 49, 121}

wéaflger augssh gmens Cappsmsl LuGTUGSS abs Blame wpupelen
&6 SEMSWID O 9160 UG EGW Cun gl HlenL &G S a6

1)0,1,8 2)1,4,8 3)0,1,3 4)1,3,5
Using Euclid’s division lemma , if the cube of any positive mteger is lelded by 9 then the
possible remainders are

1)0,1,8 ", 2)1,4,8 3)0,1,3 "4)1,3,5
3/16, 1/8, 1/12, 1/18,... etetip Qgnit euflensullen oHS5S 2 mILIL -

1) 1/24 : 2) 1/27 3) 2/3 4) 1/81
The next term of the sequence 3/16, 1/8, 1/12, 1/18,... is :

1) 1/24 2) 1/27 _ ,3) 2/3 4) 1/81

A=25 oy B=2% +263 +262 + ... +2" srems Qam(B&sLILL Do &I LstTeumausstaupiled
61| ©_6TuTEmID?

1) B gpemgi A g el 2% g flaid 2) A wppib B Fwo1b

3) B gpeu1gi A g el lébﬂmb \ 4) A gyemgi By el 1 gif)aid
If A=25% and B=25% +263 +252 +.....4+-2" which if the following is true?

1)Bis 2% morethanA 2) A and B are equal

3) Bis larger than A by 1 4) A is larger than B by 1
X+y-3z=—6, -7y+72=7, 3z=9 srsmg) Qg @Uuler Siay

1) x=1, y=2, z=3 2) x=—-1, y=2, z=3

3) x==1, y=-2, z=3 4) x=1, y=-2, z=3

The solutien of the system x+y-3z=-6, -7y+7z=7, 3z=9 is

1) x=1, y=2, z=3 2) x=—1, y=2, z=3

3) x=-1, y=-2, z=3 4) x=1, y=-2, z=3
(2x-1)%=9 -ueir Sirey

1) -1 2)2 3)-1,2 4) Bd6v srgiajd Bevemeo
The solution of (2x-1)?=9 is equal to ;

1) -1 2)2 3)-1.2 4) None of these

Qar@sasuuL u_gde ST||QR, PS=205.18
wppid SQ=30e.18, resfles APQRufl6tr
urUUeey&@b APSTulstr umniumaé@d e-ser elllgn

1)25: 4 2)25:7

3) 25: 11 4)25;13 | :

If a given figure ST||QR, PS=2cm and SQ=3cm. o T R
Then the ratio of the area of PQR to the area of APST is

1)25:4 2)25:7 3)25: 11 4) 25 : 13
x=11 eremés QanBéaiiu_ CrisGan e swerunL_nerg

1) X- 158586 Do A 2) Y-aw&as@ Benenr

3) oy Blyenafl eufls Qaeb@j@ 4) (0, 11) arerp yeedl euiflé ngum
: - 10-aemipH-1
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The straight line given by the equation x=11 is

1) Parallel to X axis 2) Parallel to Y axis _
3) Passing through the origin 4) Passing through the point (0, 11)
10.  x=atand wpmib y=bseco srexfied '
: YZ XZ 2 X2 : ) XZ
Dzt 2)fz—x—=1 3)‘2+ﬁ2=1 4)"‘ﬁ:°
b* a a b : a* b 2 v
If x=atan® and y=bseco then
y: X Yy Xy XY
Y g‘;-l 2);—Bi=1 3);5+¥=1 4);5”57‘0
11, 3x-y=4 wHob X+y=8 - gl CrisCar@asn shHeE0w Yeref
1) (5, 3) 2)(2,4) 3)(8,5) 4) (4, 4)
The point of intersection of 3x-y=4 and x+y=8 is -
1) (5, 3) 2) (2,4) 3) (3, 5) 4) (4, 4)
12,

n(A)=m wpmib N(B)=n este: A mi8l BéE QUG DISSHILLL Qeupmi sewTbleveons .
2_meyssflen Qlons s crevoenilsamns ‘
1)m" 2)n™ 3)2m—1 o™

Let n(A)=m and n(B)=n then the total number of non-empty relations that can be defined
fromAtoBis

1) m" 2) n™ | 3) 21 —y 2™
« _ o ;
3. 15 e1es1p edlFlHpm Careneuules efleodasliui L L
1)2 2)0 3)-2 4y 1/2
The excluded value of the expression _,% is : -
1)2 2)0 3) =2 a2
14. (56O LG 6T68TT HMID (PS5O LsT eTevwrentlent 15.ClL1.6u
1)1 2)2- - 3)3 4) 4
G.C.D of first composite and first prime number is
1)1 2) 2 - 3)3 : 44
ugs - 2/ PART - II o ;
ey gCseyw uss elamaipe el wefl. (s 11w e 28) (10x2=20)

Note: Answer any 10 questions. Question No.28 is compulsory.

15." BXA={(-2,3),(-2,4), (0, 3),(0,4), (3,3) 3, )} erefled A opmuid B oy Awieuiemms snevors.
If B X A={(-2, 3), (-2, 4), (0, 3), (0, 4), (3,3) (3, 4)} find A and B.

16. fog=gof eefled k-ulewm wHlienus snevws. f(x)=3x+2, g(x)=6x—k
Find the value of K, such that fog=gof. f(x)=3x+2, g(x)=6x-k

17. a’xb?=800 etetipeur m1 yemiowjid B Blens (ppsset ‘a’ LHID b’ gy Snetws.
‘a’ and b’ are two positive integers such that a®xb®=800. Find ‘a’ and ‘b’

18. 8, 24, 72,.... etenp Qzrieuflensulenn HHSS PITMI 2 DILILSHENETS ST 6TTTE.
Find the next three terms of the sequence 8, 24, 72,....

_ 4x%y . 6 Ay b 6x2

19. &m&EGS: 2 'Z‘O‘Y—q 19. Simplify: 2 _—-20y4 .

20. x2+8x-65=0 eremd B(mLIq& sL06TLINL 1960 ePEVRISETIE Sa (D S60 LOH DI QLI ESHLICIE SN 6TTS.
Find the sum and product of the roots for the quadratic equation x%+8x-65=0.

21,  x*-x-20=0 srgib PHUIq&F FLOTLITL1G6IT PPEORISETICH SETEMDEME SN CTuTS.

, Determine the nature of roots for the quadratic equation X2-x-20=0.

22. eaunQarss w&Caremmast ABC wppib PQRewr appeneysst (pennGu 36Q1&.18 wop gy
24Q5.8 g ©w. PQ=10065.15 s1erfled, ABgps snevurs.
The perimeters of two similar triangles ABC and PQR are respectively 36cm and 24cm. If
PQ=10cm, find AB. | .

23. (-6, 1) wppid (-3, 2) gydw yereflasener Benewrs o CHISCHTL 1q 60 s1iIEneUS S 6tos.
Find the slope of a line joining the points (-6, 1) and (-3, 2).

1+sin6
24, \TTane = %ec0+1an0 qenueng Nandasab.

g 10-seamflsin—2
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Prove that . +s!n i
: 1-sing ,

25 (23) iopud (-7, -1) evéinp By ysivaflesst suyflé Qreopuiia GrisGan iy sierLIT enL_s STeTs.
Find the equation of a line through the given pair of points (2, 3) and (-7, -1)
AB=5Clz.15, AC=10@15.15, BD=1.5Q1s.15. o gutb CD=3.50\s.15 sresfl> AABC ufléd AD oy 60781
ZAdlerr Qmew a1y oy @Lwr stens Condléaayib.
Check whether AD is bisector of ZAof AABC in each of the following AB=5cm, AC=10cm,
BD=1.5cm and CD=3.5cm.. _
27. A={0, 1}, B={0, 1}, C={0, 1} erexfle (A X B) x C snevers.

If A={0, 1}, B={0, 1}, C={0, 1} then find (A x B) x C.
28.  0.6+0.06+0.006+0.0006+...... 16D QL@ EOSM_auflensulisnn (Pigeypt 2 HILILSET

QU Sn(HFH6V &T6TETE.

Find the sum to infinity of the G.P. 0.6+0.06+0.006+0.0006+......

A u@d - 3/ PART - III
ﬁ;ﬂuq: aCsayb 155y aflamalng efsorwefl. (s mw aflsmm 42) (10x5=50)
ote: Answer any 10 questions. Question No.42 is compulsory.
29.  A={xe W|x<2}, B={xe N]1<x<4} wpmib C={3,5} eresflev

Ax(BNC)=(AxB)(AXC) s16u1& & (Hs. _
Let A={xe W|x<2}, B={xe N|1<x<4} and C={3,5}. Verify that Ax(BNC)=(AxB)(AxC).

2x+7;, x<-2
x?-2; -2<x<3 aen eumrupISSLILLLT60

30. e&niyf: RHR guemsi- f(x):{
3x-2;, x23

f(1) - 3f(4) L . . )

1) f(4)+2f(1) 2) T3 S fAweuplen LSS SIS,
2x+7; x<-2

2 7.
If the function f : RoR is defined by f)=") X — % —2<x<3

3x -2, X3
f(1) - 3f(4)
then find the values of 1) f(4)+2f(1) 2) 3

396, 504, 636 gy dweuples 15.Clum.6u SNevos.

Find the HCF of 396, 504, 636.

32. gm sl (5 dsr_iaflamsuie simwns 9H550'55 epenl 2 niliLsefsr sBige 27
wpmId eupiilen GumaspLest 288 aafle) 955 apeTm 2 NILILISMENS ST6wTS.

The sum of three consecutive terms that are in A.P. is 27 and their product is 288. Find the

=seco+tano

31.

three terms. \
33. Grarelib 1005.15, 11615.5,1205.15, ......2408.15 ereorp LGS gemaysTen 15 s5IT Qg
custTemté srdlgms o eteten. Q55 aisnens Grégnismms QaraT® aeaaimea
uTlienL Sev S8 HmsMEs (pigub?
Rekha has 15square colour papers of sizes 10cm, 11cm, 12cm,.....
can be decorated with these colour papers? -

24cm. How much area

1 1 1
34. 8@EGS 2 5.6 X-+2 X -8+15
3 1 1

SImpify: 2 616 2-x+2 -85
6163+ 17x-2x+1 rsinuigléin auibappeid sneims.

35.
Find the square root of 64x*-16x3+17x%-2x+1.
3.  sptium_ o94g s0iCepnsms e Hpias.
State and Prove Basic Proportionality Theorem. ‘ |
37. (9, -2), (-8, —4), (2, 2) wHOI> (1, -3) ydw yeraflaemer penensenas Clamem .
1HETSHE6 LITIenLIS SNes.
lf?ing&mgfrea of the quadrilateral formed by the points (9{ —2?, (-8, _1), (2 : 2) gnd ( %' _3.)
38, A(-4, 2) wpgid B(6, ~4) asip eteflaemen Penamsgd miwws & 5 5i16CaL_1q 6
LML % &I CUOTE.
;;:l?g\,:—ez:;‘t’;on of the perpendicular bisector of the line joining the points A(-4, 2)
e
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39.

40.

41.

42,

eduy: ymanssy elemsserssw e wallssab.

sin A b sin A
1+cosA 1-cosA
sinA SinA
+
1+cosA 1-cosA
90Qle.15 e wrQpsTen @ Apieusn elendE swusHen qguledmbg 1.218/efeumig
Cousgdled mLbhgl Qesvdlprstt senmlemna eleraE sousHen o wrb 3.68 aefled,

4 ellemy a6 &8585 Hpieuguenw FeSlsi Borsenss snems.

A boy of height 90cm is walking away from the base of a lamp post at a speed of 1.2m/sec.

If the lamp post is 3.6m above the ground, find the length of his shadow cast after 4

seconds. A

3x3+3x2+3x+3 wpmib 6X3+12x%+6x+12 o Aw vy Camemeusaflen 5.Clum.a

S16TE1S;. ‘

Find the GCD of the polynominals 3x3+3x?+3x+3 and 6x3+12x?+6x+12.

A={0, 1, 2, 3} wpmub B={1, 3, 5, 7, 9} eretrcer Q(macvvrriugen 616578

f:A—B ergb enity f(x)=2x+1 1ens Qan@asiiu’Beneng. @seniienens Qsnau(®),

1) oubysG M Lo 2) gL euemem 3) auflenss Camyaafles semTd

4) eusmruLb gy Elweupenns &Blss

Let A={0, 1, 2, 3} and B={1, 3, 5, 7, 9} be two sets. Let f:A—B be a function given by

f(x)=2x+1. Represent this function as, -

1) a set of ordered pairs 2) a table 3) an arrow diagram and 4) a graph
u@# - 4 / PART - IV

=2c0s ecA grettLieng Hlemlssa)b.

Prove that =2C0SecA

(2x8=16)

Note: Answer the following all questions. :

43.

44,

&) Qar@&ssiul_L p&Csanemid LMNe @65 ussnsaflsr aldlgsb 4/5 sre genwoujommi
R augQleunss (psGanewid euenrs.( ey sryesi 4/5 <1)
(yOv5)
<) PQ=8Gls.18, ZR=60° 2_&8 ReS\mB& PQ&® aenquiul L H&Casr g6 Herd
RG=5.8 Q&.15 s1eor @& & Lor M1 APQReusmrs.
a) Construct a triangle similar to a given triangle LMN with its sides equal to 4/5 of the
corresponding sides of the triangle LMN.(scale factor 4/5<1) '
(OR)
b) Construct a APQR in which PQ=8cm, ZR=60 and the median RG from R to PQ is 5.8cm.
Find the length of the altitude from R to PQ.

3) Y= % X e1601m Croflw FwerLIM_1q.651 / M6 uEDTUL-ID QUEHTS:. EIETT mngﬁldﬂmtu

SEOL_ILITETLD S6TT(D) |BENET UEDTLIL S SIL 67T sflunigs. Gueb
1) x=9 s1efl6v ygps snevmies 2) y=7.5 erexflev x5 5ns§n&.
(aa)wg) . o » . .
o) Begnps, 128.8 smrsSnsnes rrSSnen oL glem Qeug)@mne:mr SLEUNTT.  geui
werflé@, 12418 eeiip Ernen CaussEe0 @lg, Peosdleneu 1 wewsfl Gg_r,ug,gd) SIS,
DTS QBT 5l oy TS, Q2gwiss, &HWN HDID &Geusm AT (enmGui 6.8/
wesefl, 488/, 38).18/wemfl wH D 28).18/wewll s16in CousSHe @l eubSeuit. euiaen
25 8MEms (peopGu 2wenfl, Swenfl, 4wenfl DI Eew Gl;)lréélff\) SIEDL_1h Sewi.
Ceusib-Grib aienrUL LD uenhsl Sigeen usTuBSS), welléss 2.48 .8/ wewf
Cauasdlev Qesiip e dls a1 S S5 Qe Crrsemnss ST 6T,

a) Graph the following linear function y=%_—x.ldentify the constant of variation and verify
1) find y when x=9 2) find x when y=7.5,
(OR) '
b) Nishanth is the winner in a Marathon race of 12km distance. He ran at the uniform
speed of 12km/hr and reached the destination in 1 hour. He was followed by Aradhana,
Jeyanth, Sathya and Swetha with their respective speed of 6km/hr, 4km/hr, 3km/hr and

2km/hr. And they covered the distance in 2hrs, 3h!'s, 4hrs and 6 hours respectively,
Draw the speed-time graph and use it to find the time taken to Kaushik

with his speed of 2.4km/hr. B

it with the graph. Also
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